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The figures in the margin indicate full marks
for the questions_

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oS fRAIRE et Teq firan

(a) In a capitalist economy, the level of
employment depends on

@< Sfferm wAfes fcme Tar w1 fde
(i) level of aggregate demand
AN ST T oS

(ii) level of aggregate supply
SHES @R TE[ 87T
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(b)

()

22A/40

(2)

(iti) level of effective demand
Ay BN TG 8°R©
(iv) None of the above

@O OIS TR
( Choose the correct option )

( ~m e IR Sferear )

Aggregate demand can be expressed as
SR ifRwl 2 i AIfR

(i D=D,+D,y

(i) D; >D,

(iii) D, <D,

(iv) D=D; -D,

where (%) D = Demand (vIf3%)

. D; =Consumer demand (CST&[ 51f371) and

(&) D, =Investment demand

(Rfcersifzm)
( Choose the correct option )
(o= st AR e )

When money wage rate is unchanged,
the slope of aggregate supply function is

cf T TR 2T SRR, cof st
I FoE SR 2]
(i) linear
R

( Continued )

(3)

(ii) non-linear
LREIRE
(iii) curved
IG

fiv) Any shape
RCFIEA SRS

( Choose the correct option )

(o= R0 iR Sfeesr )

(d) According to Phillips, the relationship

22A/40

between unemployment and the rate of
change of wage rate is

o we MR we T919 Redw1 7=
IS S0 2

(i) inverse

fRefdre
(ii) linear
@R
(7} non-linear
-4
(iv) both inverse and non-linear
e 9® = -taRs FEbE
( Choose the correct option )
(w= Resco AR Tfere )
{ Turn Over )




(e)

(g)

(h)

(i)

0
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(4)

Phillips curve determines

e @3 By 3@

(i) employment rate

[BCIRE IR
(ii) unemployment rate
SRS
(ifi) inflation rate
19 “Fifeq 79
(iv) All of the above
@[T SABIRC20]
( Choose the correct option )
(= fRemeo e Sferear )
What is modified Phillips curve?
sgeie fRforer @ 52

What is assignment problem according
to Mundell?
Teoer oo MiEged FREN TP % 2

What is Dornbusch’s overshooting
model?

TR S ergfe], wIfECET & 2
Define international financial market.

SREeP el I&E] S5 fa |

What is open economy?

T& HLAIfS 7

{ Continued )

(S)

2. Answer the following : 2x5=10
T A Tes i «

(a) Differentiate between spot and forward
exchange rate.

=i w1 THard RiATy 299 T o fida
01

(b) Write two constituents of international
financial market.

HEEIfeF 8 T& 151 S = B

(c) What are the I-S components of
Mundell-Fleming model?

TuE- @R SRS Sy -RAsE TmmaEr &
15b4

(d) Give two merits of Phillips curve as a
tool of economic theory.
weftafes wgq A= o ffee® @9 B @9
feran o

(e) Define impossible trinity of Mundell-
Fleming model.

Jeoa- GefaR wf¥a SpPRed @ e foa |

3. Answer any four of the following : 5x4=20
oo Rl vifieR Teq fora

(a) What are the factors which cause shifts
in the short-run Phillips curve?
@R Rae I I RREFR @3R
SRR TR (T W ?
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(b)

(c)

(@)

(e)

22A/40

(6)

Explain the concepts of rational
expectation in theory and practice.

ot WF I[IARE (Fao A AGME
qRCTICH! T 0 |

What is adaptive expectation? Mention
three limitations of adaptive
expectation.

feEfae domn 27 WA BH6 Sarae
e o911 :

How is the exchange rate determined in
a free market? Explain briefly.

& ae RfR 2R Rved [ 51 23, syt
1 40

What are the relative importaﬁce of
aggregate demand and aggregate
supply?

ANET oM WE TS @ereE wed
AT o9y 2

How can the aggregate supply function
be derived?

TR A o RO e 41 =

( Continued )

(7))

4. Answer any four of the following : 10x4=40
woq RcRic Bifer Ted i -

(a) Explain the purchasing power parity
theory. Discuss its limitations.
1 WOR OWel ©gil I [ W
FRRHROPHZ, SCEb 411

(b) Explain Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed and flexible exchange rate
with perfect capital mobility.

el e T TS &9 W “AfRaee

Ry e TuA-ERE Qe we eR-
e fx TCe! T 41 |

(c) How does the Phillips curve explain the
trade off between unemployment and
inflation? Discuss its policy implication.

TEq A I 03 7 T Afeere Remerz
icIPDIRSEIN

(d) What do you mean by effective demand?
What are its determinants? Explain
briefly.
st st e & 39? WR SR &
& 2 YL TR
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(8)

(e) Discuss how underemployment
equilibrium is determined with the help
of aggregate demand and aggregate

supply.

b1 B R 1 1 01 B Y k)
SIS ST @l MRS 1 =, Jof
<541 |

(l Explain the Dornbusch’s overshooting
theory.

TR N CEROR WgCH! I |

{g) Write a note on monetary approach to
balance of payments (BOP).

T el (BOP)F JWI® TEsidiy 8o
@01 (oIl o7t |

(h) Explain the asset market approach to
determine exchange rate.

R 2[R SR o qeee s
T AT |

* %k
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